Khasra No 210, Raipur, Bhagwanpur, Roorkee, Uttarakhand

### PURCHASE ORDER NO!

PO. No. ALSPL/2021/001

Date: - 06/06/2022

To, Crossair Industries S/437, PhaselV, Shivalik Nagar, BHEL, Haridwar-249403 Uttarakhand

Not Supplied

Quotation Ref. No.:- CAI/21-22/ DATED: 04/06/2022 Revised

Required materials details as below:

SL No.	Description of Material	Qty. In Nos.	Rate	Amount
1	VIBRO SHIFTER-30" DIA, SS-316 SINGLE DECK	1	1,31,250.00	1,31,250.00
2	Fluid Bed Dryer 60 kg	1	8,12,500.00	8,12,500.00
3	Octagonal Blender 300 ltr	1	5,00,000.00	5,00,000.00
4	Multi-Mill 3HP	1	1,87,500.00	1,87,500.00
5	Tray Dryer (72 Tray)	1	10,87,000.00	10,87,000.00
6	Granulator	1	3,12,500.00	3,12,500.00
7	RMG 150 ltr (GMP Model)	1	11,00,000.00	11,00,000.00
			Total Amount	41,30,750.00
		Amount a	fter 5% discount	39,24,212.00

Note: - Above Machines technical specification will be as per quotation provided with reference number and date which is aiready mentioned in PO.

#### **GENERAL TERMS AND CONDITIONS:**

- 1. GST 18% extra, Insurance and 2 percent packaging shall be charged as actual.
- Payment of Supply 50 % advance with PO, 50 % against Performa Invoice.
- 3. Supply time: -16 20 weeks from Purchase Order & all technical clearance from Our side.
- 4. Freight charges will be paid by us.

For Agnize Life Science Pvt. Ltd.

AGNIZE LIFE SCIENCE PUT.LID

Director.

Khasra No 210, Raipur, Bhagwanpur, Roorkee, Uttarakhand

### PURCHASE ORDER NO2

PO. No. ALSPL/2021/002

Date: - 06/06/2022

To,

Crossair Industries S/437, PhaseIV, Shivalik Nagar, BHEL, Haridwar-249403 Uttarakhand not supplied

Quotation Ref. No.:- CAI/21-22/ DATED: 06/06/2022

Required materials details as below:

SL No.	Description of Material	Qty. in Nos.	Rate	Amount
1	VIBRO SHIFTER-36" DIA, SS-316 SINGLE DECK	1	1,81,250,00	1,81,250.00
2	Fluid Bed Dryer 220 kg	1	26,87,500.00	26,87,500.00
3	Octagonal Blender 1000 ltr	1	9,37,500.00	9,37,500.00
4	Multi-Mill 7.5HP	1	3,50,000.00	3,50,000.00
5	Tray Dryer (96 Tray)	1	13,37,500.00	13,37,500.00
6	RMG 600 ltr (GMP Model)	_ 1	30,62,500.00	30,62,500.00
	*** 0000		Total Amount	85,56,250.00
		Amount a	fter 5% discount	81,28,438.00

Note: - Above Machines technical specification will be as per quotation provided with reference number and date which is already mentioned in PO.

#### **GENERAL TERMS AND CONDITIONS:**

- I. GST 18% extra, Insurance and 2 percent packaging shall be charged as actual.
- 2. Payment of Supply 50 % advance with PO, 50 % against Performa Invoice.
- 3. Supply time: -16 20 weeks from Purchase Order & all technical clearance from our side.

4. Freight charges will be paid by us.

For Agninomics 电中下电话的记忆中VF,LFD

uthoris Dir

Director.

Khasra No 210, Raipur, Bhagwanpur, Roorkee, Uttarakhand

### PURCHASE ORDER NO3

PO. No. ALSPL/2021/003

Date: - 05/05/2022

To,

Crossair Industries S/437, PhaselV, Shivalik Nagar, BHEL, Haridwar-249403 Uttarakhand not lupplied

Quotation Ref. No.:- CAI/21-22/24, DATED: 23/07/2021 & CAI/21-22/52, Revised DATED: 04/06/2022

--- Required materials details as below:

SL No.	Description of Material	Qty. In Nos.	Rate	Amount
1	LIQUID MIXING TANK WITH STIRRER (100 LTRS)	1	1,87,500.00	1,87,500.00
7	LIQUID STORAGE TANK (100 LTRS)	1	1,87,500.00	1,87,500.00
2	ROLL COMPACTOR - MODEL NO.150	1	17,12,500.00	17,12,500.00
4	Automatic Coating Machine 48"	1	72,00,000.00	72,00,000.00
-5	Coating Machine - 36"	1	8,12,500.00	8,12,500.00
6	Paste Kettle – 50 LTR	1	2,43,750.00	2,43,750.00
7	Paste Kettle – 125 LTR	1	3,43,750.00	3,43,750.00
8	Colloid Mill 3 HP	1	2,03,750.00	2,03,750.00
	CORON WINTO TH		Total Amount	1,08,91,750.00
		Amount a	after 5% discount	1,03,47,163.00

Note: - Above Machines technical specification will be as per quotation provided with reference number and date which is already mentioned in PO.

#### GENERAL TERMS AND CONDITIONS:

- 1. GST 18% extra, Insurance and 2 percent packaging shall be charged as actual.
- 2. Payment of Supply 50 % advance with PO, 50 % against Performa Invoice.
- 3. Supply time: -16-20 weeks from Purchase Order & all technical clearance from our side.
- 4. Freight charges will be paid by us.

For Agnize Life Science Pvt. Ltd.

adhtæ life béience avt.ltd

Director.

Khasra No 210, Raipur, Bhagwanpur, Roorkee, Uttarakhand

### PURCHASE ORDER MG

PO. No. ALSPL/2021/006

Date: - 06/06/2022

To, Crossair Industries S/437, PhaseIV, Shivalik Nagar, BHEL, Haridwar-249403 Uttarakhand



Quotation Ref. No.:- CAI/21-22/48, DATED: 09/08/2021 Revised

Required materials details as below:

SL No.	Description of Material	<u>Unit</u>	Qty.	Rate	Amount
1	External Dress Locker with shoe Rack at the Bottom (SS 304) Size 48"(L)X12"(D) X 72"(H)	PČS	PCS	48312	289872
2	Internal Dress Locker with UV lamp Holder (SS 304) Size: 48"(L) X 12 "(D) X 72"(H)	PCS	3	43306	129918
3	Internal Dress Locker with UV lamp Holder (SS 304) Size:- 72"(L) X 12 "(D) X 72"(H)	PCS	3	70965	212904
4	Cross Over Bench with shoe and cap - mask Holder(L shaped) (SS 304) Size: 48"x24"x24"	PCS	18	24456	440208
5	Cross Over Bench with shoe and cap - mask Holder(L shaped) (SS 304) Size: 36"x24"x24"	PCS	8	18169	145352
6	Cross Over Bench with shoe and cap - mask Holder(L shaped) (SS 304) Size: 72"x14"x18"	PCS	4	28731	114924
7	Foot Operated Dustbin (SS 304)	PCS	3	10625	31875
8	SS Table 36"(L) X 30"(D) X 30"(H) With a single drawer (SS 304)	PCS	8	28306	226448
9	SS Stool (SS 304)	PCS	96	5581	535776
10	SOP Stand (SS 304)	PCS	66	1181	77946
11	SS Trolley Dimension of the Base Plate (SS 304) Size: 36"X24"X 4" (Tiers/ Wheels : Neoprene or Suitable scratch free and load bearing material)	PCS	12	33569	402828
			Total Amount		2608051
			18% GST		469450
			G.	Total	3077501
	Amount after 5% discount			29,23,626	

Note: - Above Machines technical specification will be as per quotation provided with reference number and date which is already mentioned in PO.

Adnize life science byf.lfd

Director

#### **GENERAL TERMS AND CONDITIONS:**

- 1. GST 18% extra, insurance and 2 percent packaging shall be charged as actual.
- 2. Payment of Supply 50 % advance with PO, 50 % against Performa Invoice.

Khasra No 210, Raipur, Bhagwanpur, Roorkee, Uttarakhand

### PURCHASE ORDER MO7

PO. No. ALSPL/2021/007

Date: - 06/06/2022

To, Crossair Industries S/437, PhaseIV, Shivalik Nagar, BHEL, Haridwar-249403 Uttarakhand

mot supplied

Quotation Ref. No.:- CAI/21-22/49, DATED: 10/08/2021 Revised

Required materials details as below:

SL NO.	Description	Qty.	Basic Price/Unit	Total Amount
1	Static Pass Box Internal Size-750 x 750 x 600 mm.	32 Nos.	78,562/-	25,13,984/-
2	Dynamic Pass Box. Internal Size- 750 x 750 x 600 mm.	6 Nos.	1,35,000/-	8,10,000/-
3	Sampling Booth Size- 1500 x 1200 x 2100 mm.	2 Nos.	2,06,250/-	4,12,500/-
Ą	Dispensing booth Size – 1500 x 1200 x 2100 mm.	2 Nos.	2,25,000/-	4,50,000/-
5	Bio Safety cabinet = 1200 x 900 mm	1 Nos.	3,43,750/-	3,43,750/-
5	Laminar Ari Flow (LAF) - 1200 x 900 mm	1 Nos.	2,81,250/-	2,81,250/-
			Total:	48,11,484/-

Note: - Above Machines technical specification will be as per quotation provided with reference number and date which is already mentioned in PO.

#### **GENERAL TERMS AND CONDITIONS:**

- 1. GST 18% extra, Insurance and 2 percent packaging shall be charged as actual.
- 2. Payment of Supply 50 % advance with PO, 50 % against Performa Invoice.
- 3. Supply time: -16 20 weeks from Purchase Order & all technical clearance from our side.
- 4. Freight charges will be paid by us.

For Agnize Life Science Pvt. Ltd.

AUNIZE LIFE SCIENCE PVT.LTD